Spring Test 6

Name ........................................................................ CIaSS ................................. Date ...............................
1 | 578 + 400 = 2 [ 8x5=
U U
3 % X 60 = q | 82x3=
& U
5 =26X2X1 6 | 9x9=
U U
7 = 194 + 486 8 | 5732+ 1000 =
U U
© | 7000 — 3284 = 10 =92 + 100
U U
11 | 456,730 — 53,274 = 12| 4=
U &
13 % X 300 = 14 | 7.5 X 1000 =
U U
15 =1-7 16 | 9365 x 6 =
U U
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Spring Test 6 (continued)

(2 marks)

17 | 5874+ 4= 18 11_4+%:
) )
19| 15-4x2= 20 ;_X%:
) )
21| 3.6 +46.82 = 22| 73 +100 =
O
23| 8 X = 776 29 %+;—=
O O
25|55 -2, = 26| 3 -3-
O O
27 | 50 % = 3000 28| 122+ 6=
) )
29 ’ 30
X |5 36

(2 marks)
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Spring Test 6 (continued)

31 =0.09 X9 32| 552+6=
33| 11% X 400 = 34| 73.23 - = 35.454
4|2 5
35 X 3 36 512 712
(2 marks) (2 marks)
~N
Total marks /40
J
How well did you do? T 1[7]8[20]21]26
Colour the numbers of the — 1012 [13[17[23]27
questions you got correct. X 21456 |[14]16]18(22]23]|25(29]31|35
- N|119124128[30]|32]|36
Fractions 15120|22|26|27 |28
Decimals M112116]21124]31(32(34
Missing no. 9 125|134
BIDMAS 23
Percentages | 33
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